Alder College Library

Sepfüzou Kohima: Nagaland Kohima-797001

SL	No.	(for Academic Year 2019-2020) Books Expend Title	liture			
1.			Quantity		Disc %	Amount
		Class 12 Arts	3	Price 1139	-	3390/-
	2.	Development of Indian Education and its Problem	1	895	30	626.5
	3.	Comparative Political System	1	895	30	626.5
4		Educational Psychology and its Education	1	895	30	626.5
5		Foundation of Education	1	425	30	297.5
6.		Modern Trends and Indian Education.	1	895	30	626.5
7. Thehou Rü		Thehou Rüsie	5	250	-	1250
8.		Kijii Lho Thenie	5	60	-	300
9.		Puo a Meho tha Zo	5	30	-	150
10.		Apuo Kekhrie	5	30	-	150
11.	ŀ	Kerheinounuo	5	50 .		1
12.	T	henudiü	5			250
12			5	60	-	300
13.		Teiki Geizo	2	100	-	200
14.	Uı	ramia Geizo	2	200	-	400
15.	15. Tenjimia Mhophruo Geizo		2	200	-	400
16.	Diechie		2	60		
17.	Faanamiaa				-	120
l			5	223	-	1115
I a			51		-	10825

Note: Books entered in the Accession Register during 2019-2020

Alder College Kohima

M/S CENTRAL TRADE AGENCY

(Student Book)
Old N.S.T. Main Road Kohima, Nagaland - 797001

No. 25/03/19

SI.	Particulars	Qnty.	Rate	Amour	it IP.
10.	and the state of t			NS.	1
1	112. 1181				1
	pet Ba	its sea	×1130	3390	1
		4	1,195		2-14. (E)
	5	1			12.0
			September 1		
		L. Asia	17		
		The state of the s			
T. Va		ALC:		18. 5	X
			Total	3390	. 1

25/3/4 3/49 Signature

2019



BILL BOOK GOVERNMENT SUPPLY

(भारत भूषण) 09811864351 8433295480

H.O.: G-39, 2BHK, Godwin Colony, Near Godwin Hotel, Baghpat Bypass, Meerut-250001 B.O.: 2709/4, Kucha Challan, Behind Moti Mahal, Darya Ganj, New Delhi-110002 B.O. : H.No. 23/623, Gali No. 6, Gurana Road, BARAUT (Baghpat) U.P.

Ph.: 9412701251 (Delhi), 09458049784 (U.P.)

website: www.balajipublications.com, E-mail: balaji.books2010@rediffmail.com, balajibooks2010@gmail.com

To. Principal ALDER college Khor	Order No	Invoice No7-7
	Date	Date .5./.7/ 1919.

A/c No.		e SBI0000004939 HDFC0002732		Add G.S		2800
		U.D. 50 DANK		DISCOUNT		1201
				TOTAL		4005
		425	A TIND TO THE TOTAL TOTA	7		
		805,26 8506	8. 5=626.5 8. 297.5			3
5	Tasi	Mordem Treno	ls Aul true in inclu		895	895
4.	,	Foundation a	f Eduction	1	425	425
3	S·K·	Educational M	scholy and its Feller	1	895	895
2.	Armo	1k Prot		1	895	895
ı	Z.K.	Delopment of I.	notice Eduction Al	1	895	895
I. No.	Autho	or	Particulars	Qty.	Rate	Amour Rs.

Rs. (In Words) Two travel up hohe

TENYIDIE 1	Books	
1) Thehoy Riisie - 2) Kijii Lha Thenie 3) Puo A Meho tha Zo = 4) Abuo Kekhrie - 5) Kerheingunuo - 6) Thenudiii 7) U Teiki Geigo - 9) Tenumia Geigo - 9) Tenumia Mhophruo Geigo 10) Diechie	5x250 5x60 5x30 5x30 5x50	= 1250 /- = 300/- = 150/- = 150/- = 250/- = 300/- = 200/- = 400/- = 400/- = 120/-
Purchased by	11/05 10	₹3520 /-
Release the second	Pii-iinguse 201-bardadir 201-gerd rode root 101-20 pos (see 10)	Kuotsu
topes of the real	Je je je je	

SH MEMO I TRADE AGENCY Book & Stationery) Road Kohima, Nagaland - 797001 Date 240319 ARTICULARS RATE AMOUNT
RS.

Sconomics Spares 1115.

Vals XII see by books Total 1115 ·

Library: (for Academic Year 2019-2020)

Journals Expenditure

SL No.	Journal Name	Publishers	Frequency	Amount
1.				
2.	Contributions to Indian Sociology	Sage Publishing	Thrice	6660
3.	Higher Education for the Future Sage Publishing		Bi-annually	4470
4.	Studies in history Sage Publi		Thrice	4470
5.	Studies in Indian Politics	Sage Publishing	Thrice	4470
6.	Asian Journal of English Studies Asian Journal of English Studies		Yearly	3080
7.	Economic and Political Weekly	EPW	Weekly	5580
Total			Rs. 28730/-	

PRINCIPAL Alder College Kohima

RENEWAL NOTICE



Page No.

Renewal Date: 28/09/19

Bill To Customer Code 00008007

266

Renewal #: REN-J/20/17795

End User CustomerCode 00008007

MS. ATHINI

PRINCIPAL

ALDER COLLEGE

SEPFIIZOU

POST BOX NO 164

KOHIM A-797001

Nagaland (INDIA)

Phone No. :9862991142

E-Mail:nekhiniathini@gmail.com

PRINCIPAL ALDER COLLEGE SEPFIIZOU POST BOX NO 164

Nagaland (INDIA)

KOHIM A-797001

MS. ATHINI

Phone No. :9862991142

E-Mail:nekhiniathini@gmail.com

Dear Subscriber,

Thank you for subscribing to the Sage journals listed below. To ensure uninterrupted supply, kindly send your Renewal payment as per under-noted details, now:

Subscription Type :

Print (Inclusive of free online access)

Sale Type

Institutional

Journal Name/Period	Volume/Issue	Rate	Qty	Disc%	Subscription Price
CONTRIBUTIONS TO INDIAN SOCI	OLOGY				
01-01-20 to 31-12-20	0054/001 - 0054/003	6580.00 INR	1	0	6,580 INR
Higher Education for the Future					
01-01-20 to 31-12-20	0007/001 - 0007/002	4390.00 INR	1	0	4,390 INR
STUDIES IN HISTORY					
01-01-20 to 31-12-20	0036/001 - 0036/002	4390.00 INR	1	0	4,390 INR
STUDIES IN INDIAN POLITICS					
01-01-20 to 31-12-20	0008/001 - 0008/002	4390.00 INR	1	0	4,390 INR

Summary of Tot	Summary of Total Amount				
INR	15360.00				
USD	0.00				
GBP	0.00				

The referred prices are valid till 31st August 2020 & are just for your reference and to place subscription order, please seek Quotation from us. Quotation shall be submit to you at prevailing exchange rate.

For quotation, please write to us at : customerservicejournals@sagepub.in

We look forward to your order and assuring you of our best service.

Best Wishes,

Gajendra Singh

Important: Back File Purchase- You can now purchase Online back files (content from Vol.1 upto Year 1998) of your desired Titles by making a one-time payment.

Please Ignore this Notice if Renewal has already been done.

SAGE PUBLICATIONS INDIA PVT LTD

B-1/l-1, Mohan Co-operative Industrial Area, Mathura Road, Post Bag No. -7 New Delhi - 110044

Phone No.: 011-40539222 Fax No.: 011-40539234

E-mail: customerservicejournals@sagepub.in CIN: U74899DL1981PTC012121, GSTIN: 07AAACS0332A1Z7